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ST UDY LCLENTRE

TNPSC GROUP 1 MAIN EXAM - 2023

MANDATORY TEST II
UNIT- I: Modern History of India and Indian culture
UNIT- I1I: General Aptitude & Mental Ability (SSLC Standard)

Total Marks: 250 Time: 3 hrs
Section A
10 x 10 =100
Answer the following in 150 words each

1.  Who founded Abinav Bharat Society and what was its purpose? Briefly outline its history.
Sletel UTFS FhSHMmS CHTBmIaNSSHT WIT LBBID DiHer CHTHsDd WirH? SDIHT euFeuTHsiene
F(HHBLOTEH  61(LPSIb.

2. What were the major recommendations of Nehru Report.
Cpm omlsmasule (WweHHw UfbaHiengsen wWmene?

3. Write a note on the Multidimensional Legacy of Tagore
FTaflel LSI(ps QyEHemd GBIGHSH GBI eUenTH

4.  How far was Hindu-Muslim unity achieved through Khilafat agitation?
BhEHI-(Lperelld @BMIMIDE S, HeoTud BUIsSELD shHenalBE o Halluig?

5.  Write a note on
@MY sumTH

a. Munda Rebellion
(LPEWTL_TEH6IT  &BleNiTF g

b. Kol Rebellion
BCxmmev Hlentad

6. What do you know about the Macdonald Award? Was the Poona Pact a satisfactory solution
to it?
QaoLTearme(h OCaTemL GBiSH HalT Spfleug wWrg? BSME LT 2 L SiLIQHamed SH(HLISHSTLOTeT
Sreurs AHbHHHT?

7. Evaluate the role of Indian National Army in India’s Freedom Struggle.
@phaw alBsHmev CUIITLL G0 BbsHw Cahrdlw @rmemieushalet Lmsa il wrg?

8.  List out the significance and achievements of Swaraj Party.
gwmew sl fuler (pesPwsbsed OBBID FTHeasmen L 1guledbha

| | Page Appolo Chennai, Ph: 24339436, 42867555, 9840226187




9.  Answer the following question
LeTeu(hlD e eTehEEhdE alenL W6l

:gandC:Dg: thenfind A:B:C:D. (5m)

aafled A:B:C:D -1 gy srewie:

olobdlw

Nlow

b. A car travels 90km in 2hours 30minutes. How much time is required to cover 210km?
(5m)
QM WLIHWHSH 90 H.B HMISHHS SL&H IbBHHISHCSTeTEHD GHID 2 wewl 30 HILOL MIH6T.
9I6s waWha 210 &6 HMIHMHS 55 BSHHH0BT6TEHD CHILWD sl6ileuere,?

10.  Answer the following questions
Letteu(phld aleimédehdE allenL w6l

a. A man and boy received Rs. 800 as wages for 5 days for the work they did together. The
man'’s efficiency in the work was three times that of the boy. What are the daily wages of
the man and the boy? (5 m)

R oiamid Fpleuaid Gaiba CFulsh GCeoumevd@ 5 BT L&HEHSEG 800 HUTUI argHuIoTsLl
Cummpeny. Geuemevuied opemilent Hmenr Fpieuener &l cPIIHI WLEIG DISHBD  6lefled  L6uT
BpId Fpeueaier Hergf oamguid ereren?

b. A small-scale company undertakes an agreement to make 540 motor pumps in 150 days
and employs 40 men for the work. After 75 days, the company could make only 180
motor pumps. How many more men should the company employ so that the work is
completed on time as per the agreement? (5 m)

@@ Fml Osmped mpeueid, 40 Spemismentl LeWTshs 150 mEIL&elled 540 allensliGums
Sopliismens (Motor Pumps) swnfigal euphis @f @UUbSSMmS (dBSHIS0sTMEBSH. 75
BIL&ERSGL LB, SpBppeaisbadie 180 alewslours Senpliisemer wl (6L  Hwmfldbs

WbhSSHl. Ceuemeowmendl @QUUBSHH LY CHISHBGS (P, FbHHEUTE 6THHENET  OLETSHEM6T
SbHBIeUeID LeliwinTdhg Geuemt(BLD.

SECTION B
10 x 15 =150
Answer the following in 250 words each

11.  Analyse the differences between Moderates and Extremists of the Indian National Congress.
@haw Cxrdlwsd sthETFed WHaTHBEHHGWD, HalFeuTdseEndd(peten CoaumLmTGamen LIGUUTUIS

OR

“The Congress was established as “a safety valve’ for the British rule in India”. How for do
you agree with this view?

@phywmaled nSGowm o dbG SThESFed SUAWTOH @  UTHSTIL  euTeLeuTsCeul
CawedLIL L g eraTUGHmenT LT JimIsO\BTeTSINSTHENT?

12.  Discuss the salient features of the Government of India Act, 1935 and critically analyse its
defects.
1935-b oewih BuBplULL @bHu SeThs FULSHa (WhHw Fpliiweoyser alleurs) oBEBID
SIS GMBHEM6NT DU IS,

OR
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13.

14.

15.

16.

17.

18.

19.

Write a detail note on the significance, merits and demerits of the Regulating Act 1773.
QUBIGWmBFFLLLD 1773 @61 (PpHIHWSHSHIAID, HedBseT LBHID GeopseT GB¥Sa  alfleurs
SI(DBIS

Write a detail note on Cabinet Mission Plan.
SIMFFTM HTHH G GSPHH alfleurs e11pHIH

OR

What were the proposals of the Cripps Mission? Why did the Mission fail?
Sifitied srHIbEGHwalar (WaTowmdesst wreneu? SHifilied STHSGHW g6l CohTeoalwlenL HHa?

What do you know about the Swadeshi Movement? How far did they succeed?
&8zd Quasd uBp BalT Sfeugl eea? i QeauBn CUBBSHT?

What are the essential principles of Satyagraha? How does it differ from passive resistance?
And mention various Satyagraha Movements in Indian Freedom Struggle.

FHIHUTHTSSHFHT Sl CsTeTendser wmeeu? euaipedBwBE  Curgm L SHeldBbhaH  Digl
aeueumml  Coupupdma?  Goeudb @hFHw  &eHHT  CurgmlL s  ueGaum  FHHWTHTH
Buwissmsmend GBILLIGS

Describe the Peasant uprisings during the colonial rule in India.
STeVNWTHSBHHeT S BhHwmalsd gBuUlL aleugmul ewpsdlenws alleur.

Explain in detail the modern Hindu Renaissance
pofer @bal wpiweoTFS uBp elfleurs alendsean

OR

How far is it true to say that Rajaram Mohanroy was the forerunner of Social Reform in
India?
@hFHwreler Feps LBIweOTFSUNe (LpeiiGermy @rmeamymd GCTSEITUl 6T6ILSI 2 6uuTenLoulT?

Sardar Vallabh Bhai Patel has been called the ‘Iron Man of India. How far do you agree with
this view?

@bgHwreler GS@bWL  WWelST el FIHTT  euedeoUTw ULGL6D SIMWSHBLILGUSBE — Sl6UT
QUTHSHSLOTETUIT — UIH

OR

Describe the Socio-Political ideas of Ambedkar
ICUGHFMeT Fepd DIFed HHIHHIHHMmen aieur

Answer the following questions
eiTeu(Hld aeTehEend@  allenL e

a. A milk can contains 60 litres of milk. 6 litres of milk is taken out of it and 6 litres of water

is poured into it. Again 6 litres of mixture is taken out of the milk can and 6 litres of
water is poured into it. Find the percentage of milk and water will be left finally in the
milk can. (8m)
Qb UTSHHTHS 60 60 GO LT 96116 LITeL o 66N 1560 (HHS
6 eILLT utemev eIBHH  @ILB, 6 LT Hewiewl] eammmULGSBSI. 6wt (HLD
SIBHVMaUTIHHESH 6 ILLT 6ihdham ol B, 6 LT SHewiewiT oaBpliubGapg. SUCUTSH
SIILTHHTHH60 THBHME FHAIHD LITeL OMMILD HeuwTeniT 2 _6iTeng)?
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b.

A bag contains X 187 in the form of 1 rupee, 50 paise and 10 paise coins in the ratio

3:4:5. Find the number of each type of coins. (7m)

QUH mUUTeL @ ehuUTUI, 50 ewuFT WBBID 10 WUSFT [HTETWRIG6T elewienldms 3 : 4 : 5
aeip  alFHHHe0 o eiener. BrewlmSeller CTHs WHL eh. 187 eleled, @ICEUTIH NS
BTRILIMIS66I  6TamTenlhensd 6T61AI6TE| 616  HTEMISH.

20.  Answer the following questions
LeTaumd aNemmebdEnhdd alenL w6

a.

4 | Page

P alone can do %of a work in 6 days and Q alone can do %of the same work in 4 days. In
how many days working together, will they finish %0f the work? (7.5 m)
P eaeueur selGu @ Gousmevuiest % ugHemw 6 BT sefed, Q eeaeT HalCw 216z

Gouemevuilest %ug@ﬁﬁmm 4 BILseTID (PRUUT. Smeumbd Semenihdhl SibH Ceuamevuier %
UGS 1HHemer BT &e6iled (LpIQLILIT?

X and Y can do a piece of work in 9 days, Y and Z in 12 days, X and Z in 18 days. In how
many days will they finish it together and separately? (7.5 m)

X, Y @maumd o GCouemevenwt 9 BTl Hefled QFuigk ol Y, Z 2085 Geauemevenws 12
BTl seled OQauig wouut. X, Z £96Cs Gousmevenw 18 B &efllsd GFuigl (WQUUT.  eLpauHLD
Gaibgl LBBID SHalHHHILTELD DieICamevenl 61HHMe BT H6Med CFUISHI (LPIQLILIT?
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